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Because he intends to teach, o2 — nB> "IN YWwapT 2Wn

OVERVIEW

The X713 initially asked why does the miwn state n°ap1 AWKRT and not WX
TP (as it states wIpn wor).' The answer is that since 703 is one of the
three 0°277, and 70> has a connection with the word 7°1p; therefore (on
account of 702) the mwn writes N33, Our MdOIN discusses the validity of this
answer.

Mmoo anticipates a difficulty (and resolves it):

— 10pY 799979 XA YON 19N NIM 71995 7Y KY XD
And here it is not appropriate to ask; ‘and do you change the wording by
two on account of one’, as the x7»x asks later?. —

mooIn explains why this question is not applicable:

— INY2Y YOV ") TV 13D YT
Because the expression '11p' (acquisition) applies also to "vw and 7N°2.
Therefore (since 1°1p is 7w by 7X*21 W as well as 702) it is not X771 10K NN, for the term
1 is applicable to all.’

Mmoo anticipates a difficulty with this answer. If the 11 W% applies to X2 0w (as
well as 702), then what was the original question of the X723 that it should say nwX:a
nwpnn if the term N°1p1 is appropriate. N190IN responds:

— 1P YYDy NN NXN XY

" This question can be understood it two ways. 1. Why does our 71wn use the term 3p (which is appropriate
for acquiring ownership [not for marriage]) and not the term 7"w17°p (which is appropriate for betrothal) as
the 711wn uses it in "1 p19? 2. Why is there a difference between w2 P75 which uses the term 13 and P9
1 which uses the term w1 7p? The question and answer of Mo parallel these two explanations
respectively. See footnotes # 4 & 6.

%1t seems from the s'x 3 answer that really we would use nw7pn» (for that is more appropriate), however
since 03 is associated with 11p, the mawn chose n*1pa. It is difficult to understand, however, why change
nwIpnn (which is appropriate for all [three]) to n°1p1, on account of 70> (which is only one). How can one
case outweigh the other two (where nw7pn» would be more appropriate)?

3 On "2 7MY the XM explains that the 71wn states '0°277" (instead of '0°127'), because 7X°2 is referred to as
77. The X713 asks is it proper to change the 177 of two things (0w 7105 [where the 0°727 WY is preferred])
on account of one thing (782 for which the 777 W7 is preferred). It is not proper to use 0°377 for 7X°2 (one
item) if 0727 is appropriate for VW O (two items).

* In this (anticipated) question Moo assumed the first explanation mentioned in footnote # 1. We assume
that the term 7°3p is [generally] inappropriate for 1w 7p. If we state 11p because of the association of 703
(alone) with 7°1p, then it is X717 YOX *nN2N °In.

5 Therefore since there is a specific association of 7o3 with 11p (even though this association does not
manifest itself with 70w and 7X°1, nevertheless), it is justified to use the term 737 (for it is appropriate for
821 0w as well).
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And there never was a concern with the 123 3% that it is inappropriate -
— 1937 1YWY NI NP PUYTDP PYY NI IN0PYT DIV NIN

But rather the question of the X3, that it should state here nw7pnn AW,
was because later (in "1 p79) the 7w uses a PRATP PD (WIpR UIXRI), SO

why here does the mwn use a I PWY (1P 7wKRn); why the change of the
mnw?? However the X3 did not assume (even in the question) that PP is an
inappropriate 172, on the contrary 1°Jp is appropriate for all three modes of PW17p.

Mmoo offers an alternate solution’ to explain why it is not X711 X *nAN:
: (ay 0 911)‘,7):11 990 NN NPNI 29N27 8]’)‘.7 PYY JINOWUN 1) Y0WA 1) ON

Or you may also answer; that by =vw we also find the 1p 1w, as it is

written ;7127 920 X PRI (and I took the writ of acquisition) referring to a
vw with the term (73pn [190]) 1Ip. Therefore (since the term 7°3p is associated with 793
and VW) it is not X777 WK °N7N but rather >N7N WX X771, that even though the term 7°17 may
not be associated (nor appropriate) for aX"2, but it is associated with the other two 2°1°1p
of 702 and 7vW (who are the majority).

SUMMARY

There was never any concern with the term n°1p1; the question of the X1
was why the change from NWwX3 275 to "1w P79. Therefore since 702 (or AO>
W) is associated with 1P it is not X777 10K NN 1N,

THINKING IT OVER
1. What are the relative advantages of both answers of n1»o1n?

2. Is it more evident that 702 is associated with 19, or that VW is associated
with 11p?

® This is in accordance with the second interpretation in footnote # 1.

7 The 1" finds the first answer unsatisfactory. Granted that the term 137 is appropriate for 7X°2 T0w;
however since there is no specific association between them, the 711wn should have written nw7pn»n (which
is certainly more appropriate). Writing n°3p1 is still &7 10X °n7n "in. [Alternately the 1"X may maintain the
first interpretation of footnote # 1, whereupon N1901N previous ¥17°N is inapplicable (see 15 MK 7"'310)].

¥ See 0" who explains that the X773 knew of the association of 70w with 11p, but nevertheless asked the
question that it should state nw7pnn because of the rule X717 WX NN "1n. The &nx answered that 703 is also
associated with 1°Ip so it is >N R K7M.

? See “Thinking it over’ in the following 7021 7"7 Mmoo,
10 %> oo,
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